@ If-}-"Oll make quarterly payments of $599.00 into an ordinary annuity earning an annual

interest rate of 3.15%, how much will be in the account after 4 years?

(Note: Your answer is a dollar amount and should include a dollar sign)
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(Note: Your answer is a dollar amount and should include a dollar sign)
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Q @ For each sequence, find a closed formula for the general term, a,,

1.0,3,8,15,24,. a,,—i\[\ _\‘J,\\z)"s_
———

>4

2.-2,-8,-18,-32,-50,..., an= ~=1 l/\

Ll ¥ 1 ]

Al 1.;5 e

f& HH 56,15, -
\,\\ A ﬁ. g_
(<No N TS %

0)3)%,1\”)2\) - — -2, -%, 1\%, -3 -0 .
& ~ ~ ~/7 ~ 7~ 7 ~/ \{x-
2// ' -6 o -1 % '
=% s (b
~-T -% -1
\
- W e \}{
K 1)1’ 1)‘\_>§~/,_ L 
At < < o ]
12 S W S (N 4 AP A% Z) U, By Ty 3*0} -
S —7v 1 & - K - .-
k’ \) 6) Z'7) GQ‘) \_LS-)-— Z\L ’L) Cb) (?)) 317 go)
\
wo> DLy 6Ty U3, T - —
C\z/z\ —Ka =&
Bl-lo T WLl

C@

N
/ An=1l & o

oo = —lA(H ¥ C

N\N\Mb\l W A

C = \\4

S ETCONRICE Q AT



e 0

?ﬁc\‘mﬂ . o‘b =\
Ay = N CV\-\\\{
ol =
(L, =1\
2= 1\= L

_&il\b"‘l-%'?ér?w\v&tg

a W) (ax (an) -- (av)

¥
(3x-3> =






